¢) Lawyer : Ironic

(b) Erasable : Obtuse
) (b) Brzin: Nerve (c) Malleable : Limpid
(¢) Tissue:Organ  (d) Blocd : Vein (d) Capable : Inept
write the following dialogue, wrir 1 in indirect speech, in a paragraph forn
elen: Mr West, what's happened to so. n?
Ir West: He's left the company
lelen: Why has he done that?
Vv «bﬂt}: He asked me for a rise but I didn't give it to him.
en: Why didn't ymigive him a rise?

he is working in a film company.
 his salary like?
earns quite
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what had happed to john to which mr west replied 

in affirmation 

need improvement 
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